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QUESTION 1

What are three valid BGP message types? (Choose three.)
A. refresh

B. hello

C. database descriptor

D. keepalive

E. update

Correct Answer: ADE

QUESTION 2

Click the Exhibit button.

---- Exhibit Missing ---

Referring to the exhibit, which type of route is displayed?
A. martian

B. static

C. generate

D. aggregate

Correct Answer: C

QUESTION 3

What is a characteristic of OSPF ASBRs?

A. ASBRs transmit routing information between the backbone and other areas.
B. ASBRs cannot be part of the backbone and another area at the same time.
C. ASBRs inject routing information from outside the OSPF domain.

D. ASBRs link two OSPF areas.

Correct Answer: C
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QUESTION 4

Which two statements about the default load-balancing behavior for the Junos OS are correct? (Choose two.)
A. By default, the Junos OS performs a per-packet load-balancing operation.

B. By default, the Junos OS installs multiple equal-cost next hops in the forwarding table for a destination prefix.
C. By default, the Junos OS selects one of the equal-cost next hops for received destination prefixes.

D. By default, all Packet Forwarding Engine slots are assigned the same hash value on the Junos device.

Correct Answer: CD

QUESTION 5

The router ID is not configured.

How does OSPFv3 determine the router ID in this situation?

A. OSPFv3 uses the IPv4 address of the first interface that comes up.
B. OSPFv3 uses the IPv6 address of the last interface that comes up.
C. OSPFv3 uses the IPv6 address of the first interface that comes up.
D. OSPFv3 uses the IPv4 address of the last interface that comes up.

Correct Answer: A
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